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25 Hh 5 TEF | T=:F2 | T=HA1 | THREM2 | TEMA3
" |H24.10.2(25)| H24.115 | H24.11.27 | H25.1.8 H25.1.28
E-2 05 0.6 05 0.7 0.6
H24-4-3(2) 2.7 26 25 24 2.1
D-3 1.1 1.6 1.7 1.8 1.6
A-3 1.4 1.7 1.7 1.6 1.4
H16-No.5 2.3 2.7 20 2.3 20
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Aok B mg/L
2 Hh 5 TRl TE=ERI2 T=Ed1 T=h2 TEr3
H24.10.2(25)| H24.11.5 | H24.11.27 | H25.1.8 H25.1.28
E-2 0.63 0.69 0.83 0.67 0.66
H24-%4-3(2) 0.87 0.91 1.1 0.98 0.95
D-3 0.43 0.74 0.91 0.79 0.76
A-3 0.38 0.54 0.68 0.53 0.54
H16-No.5 0.87 0.98 1.1 0.78 0.86
RIEE%E 0.80 0.80 0.80 0.80 0.80
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2 Hh 5 TRl TE=ERI2 T=Ed1 T=h2 T=Er3
H24.10.2(25)| H24.11.5 | H24.11.27 | H25.1.8 H25.1.28
E-2 0.007 0.007 <0.005 <0.005 <0.005
H24-%4-3(2) <0.005 0.007 <0.005 <0.005 0.006
D-3 0.007 0.006 <0.005 <0.005 <0.005
A-3 0.011 0.012 0.007 0.012 0.007
H16-No.5 0.006 0.008 0.006 <0.005 <0.005
RIEE%E 0.010 0.010 0.010 0.010 0.010
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IR B4 mg/L
S A T =i T=q72 | T=EH1 T=E2 | T=MH3
i " |H24.10.2¢25) H24.115 | H24.11.27 | H25.1.8 H25.1.28
E-2 <0.005 <0.005 <0.005 <0.005 <0.005
H24-%4-3(2) <0.005 <0.005 <0.005 <0.005 <0.005
D-3 <0.005 <0.005 <0.005 <0.005 <0.005
A-3 0.008 0.011 0.008 0.011 0.005
H16-No.5 <0.005 <0.005 <0.005 <0.005 <0.005
IRIEEAE 0.010 0.010 0.010 0.010 0.010
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A A TRl T ZERi2 TEr TEr2 T=Er3
i " |H24.10.2¢25) H24.115 | H24.11.27 | H25.1.8 H25.1.28
E-2 <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
H24-#4-3(2) 0.018 0.024 0.011 0.0078 0.011
D-3 <0.0002| <0.0002| <0.0002 0.0002| <0.0002
A-3 0.0009 0.0010 0.0009 0.0010 0.0011
H16-No.5 <0.0002| <0.0002| <0.0002| <0.0002] <0.0002
IRIEE%E 0.002 0.002 0.002 0.002 0.002
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14-OA XY BT :mg/L
2 Hh 5 TRl TE=ERI2 T=Ed1 T=h2 TEr3
H24.10.2(25)| H24.11.5 | H24.11.27 | H25.1.8 H25.1.28
E-2 <0.005 <0.005 <0.005 <0.005 <0.005
H24-%4-3(2) 0.068 0.067 0.062 0.064 0.068
D-3 0.012 0.066 0.067 0.067 0.066
A-3 0.018 0.026 0.031 0.027 0.030
H16-No.5 0.15 0.17 0.13 0.14 0.15
RIEE%E 0.050 0.050 0.050 0.050 0.050
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FAA X HE B pg-TEQ/L
5225 Hh 15 T=EHil T=EFj2 I= I =2 I=3
H24.10.2(25)| H24.11.5 | H24.11.27 | H25.1.8 H25.1.28
E-2 0.14 0.082 0.067 AT veKiilan
H24—4-3(2) 0.089 0.099 0.055 P AT veKiilan
D-3 0.084 0.099 0.13 AT veKiilan
A-3 2.8 34 1.6 AT veKiilan
H16-No.5 0.079 0.10 0.084 AT pekiikan
RIEE%E 1.0 1.0 1.0 1.0 1.0
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